iﬁi@’;‘—l?’)ﬁﬁ Z AR y=702m3

HEFER

.z (81212010
2 b B

=1
NEREER

C——
el

=—

BN
S

!

-
=

XS

[EYN =

N=\ T

BT

% 16 5% &

Ehg | Toa

THAWKERTIE (2 TR) (#8) (BHE)

HETER
EEBEHA T A
1500 | ® # | w

& 6EHFOA 1
6 EEMET BER
BERLAEEFXTRIEHD




e fEH TR

0=130.00]

200m CARAEIEEER)

28 (No.2)

40000

O TR A K BES
(1/9.7x60+1/4.1x 66+1/7.2x74) /200
=0.1628=1/6.14=1/6

Ot E# B AR
1/6x2/3=1/9

64606

[2-285mE] %8  14.8x40=592m3

HHIE 5.2x64 6=336m3

EHO®

1/3.68
H=2.72m L=10.0m

= =
f: 1/11.56 o
\: =2 Tm L:147v66m S

m#EaL

B L

BEHaL

BHIE 4 R

it 131 # 2 T

e

g RK I 1K T

e | Toa

B # e

THABERIE (2 TK) (#5) (EHFIE)

it b e (X0

FERA AT T &

V00 | m
H=1:500 | # 1“‘ M

& 6EHFOAN 2

6 FEMRT BmE

L= 33.094

NO. 2
1A=8-27-54

R= oo

BEMREEBRIRFRLIERR




B te — i

EREER s
41.00 BIER 10

4.9 6.00 4.20 6.00 19.90
6 3.00 6 8.11 11.79 No. 2
=
|
©
|
4.70 6.20 16.90 9.00 N
3042
3.00
NO. 1+15
: iy
X BA L BAB LR
Y
145, 50 V145 50
H 1760 1:6.0 H
- o of
8 g b g
< S P 14330 h g
o~ ) B \._\.J 2
\> P &
94, 9m2
8 3
8 a2 o, EBOKEEER
QT > — RETH-HEE E
g 7 8
~ NO. 1+15 —]
= I—————"—"— == _
3 |_ S
\ g /
3
- / y g
DL=135. 00 — 5 i DL=135.00
B 134.80 |
5.10
5. 80
182 210 4.50 2.98 4.20 13.41 70 200 [0.95 3.30 1.50 2.00 2.04 BRI - KR
EE E B &
%@w =
4.90 6.00 4.20 6.00 8.11 11.79
3.000
2. 560
o @AEI’
CHIRY/AN A . . o -
g & [ S
FEE 0 s ‘ =
o
N S
< v 8| =
~| bl o —_—
11.50 L300 26,50 = 2 =
< &
R
4.90 6.00 ej 6 6.00 19.90 o
S
210 4.50 ‘ 3.58 4.01 070200 095, 3.30 , 150 . 200 132 07 1ESKAR (EE9mm x BE300mm)
E=) L=1.262+7. 255= 8.517m
m
&
iy
COfiElF, EEOE®EIC
. 3000
3 s —e°
. = (=]
. e
o . e
= NO. 2 —s . N
§ o BAIL RiRB ‘ THA
g g AR <l g gl ¢ 3 8
EIR o o o B e THARFERIE (2 TK) (##8) (EHIE)
o) - -
J ~ —== g Z AR
o o —=
8 = i & TR AR T R
=) = s = H
- :& —-— ey
O w115 S w R BI5R ‘ B ‘ M
‘ 5 |2 6EHFOA 3
«{EEIES, BARE LIBE, AARBROZESESHYBELOTOBAE
EBWALBEIEC L. : 0 6EERT BmE
AHREEBAXTRIERS




IR TH (1)

EREmR (LA

{7145. 50 V145.50

{7144. 50 V144.50

{7142. 30

V141.10

V138.10

V136.20

DL=135. 00

7134, 80 b V134,80

NO. 7+2.66
NO. 7+11.66

Ho. 1+15 EREER (FHRAD

NO. 1+15

V145.50 V145.50

V144.50 V144.50

2.00

V142.30 7142 10

V141.10

NO. 1+15

V138.10

B e
THABHERTE (2 TK) (48) (BHE)

V136.20

2 Rt T =0

& EEBEHA T A

R 100 (8 w| w

& 6EHFOAN 4

SH  6EERT BER
BERLAEEFXTRIEHD

DL=135. 00

V134.80 V134.80




BT (2)

V137.30

DL=135. 00

# £

KIE (£8) RIE (£8)
DL=140. 00 2 R # R
HEEEE EEEE

DL=135. 00 2134 80

® £
RIE (£ 7))
8
EEEE

V137.30
# £
BRI (L8)
DL=140. 00 # R DL=135. 00
EEEE

# * —
KIE (£5) 32.4

# R 7.809.2)
HZEEE 6.83(5.80)

DL=135. 00

® £ -
. RIE (£ 5) 42.0

2 B | 1802
. ~_ V145 50 S

HEEEE  [6.83(5.80)
¥T"‘447____T*4‘4*4“j7
s ]
71 _vi44.50

# *
KIE (£5)

DL=140. 00 # R

AEEE

DL=135. 00

THAMHERIE (2 IK) () (BHE)
Bt
BRI (7)) E4 ERLTTR
i} =
AEEE

(BED2)
FERA AT T &

BCEEI I
& 6EHRDA 5
6 EEMT BHmE

BEMREEBRIRFRLIERR




ERETTE (3)

V14550

V145.50

V144.50

Bt Bt
RIE (£5) BRIR (£ 5)
# R B R
DL=140. 00 EEEE EEEE

-

DL=140. 00
RIE (£8)

R
EEEE

DL=135. 00

# *
RIE (£8)
72 R
HEEE

DL=140. 00

B *

BRIE (£8)
# R
HEEEE

DL=135. 00

V145.50

#® £
BRIE (£3)
# R
HEEEE

# £
BRI (£ 8)
2 R BHHERISE (2 IK) (#E) (EHE)
EEEE

DL=135. 00

DL=135. 00

12+ T (=D
E BB T A
BCEEI I
£  6EDOM 6
6 EEIT BER
EHLAEETATRIERR




